Math 2250
Maple Project 1 Part A
Solutions
[ > restart:
1.1 Solving quadratic equations.
By hand: either try factoring, or if that doesn’t work use the quadratic equation, that the roots of

I ax’+bx+c=0
are given by
_—b+1/b2—4ac
X= 2a
_—b—\/b2—4ac
L x= 2a
1.1A
[ X2+ Ax+4= (x+2)
9 the solution to
I 2 +4X+4=0
[

isx=-2. Maple can do this by

[ > eqgt n: =x"2+4* x+4.

ans: =sol ve(eqt n=0, x) ;

eqtnl: =(x-ans[1])*(x-ans[2]);
expand(eqtnl);

ans:=-2 -2
egtnl:= (x + 2)2

i X2+ AX+4
1.1B Theroots of
[ x2+2Xx+3=0
are, (using the quadratic formula)

x=-1+y2I

Xx=-1-4y21

so the equation factors into

[ (x+1-y21)(x+1+y21)=0



Maple check:
> eqtn: =x"2+2*x+3:
ans: =sol ve(eqt n=0, x) ;
eqtnl: =(x-ans[ 1] ) *(x-ans[2]);

expand(eqtnl);
ans:= —1+\/EI,—1—\/EI
eqtnl:= (x+1 -2 1) (x+1+y2 1)

L X2 +2x+3
1.1C
[ x2—4x+3:(x—3)(x—1)
so theroots of eqtn=0 are
[ x=3
=1

Maple:
[ > eqgtn: =x"2-4*x+3:
ans: =sol ve(eqt n=0, x) ;
eqtnl: =(x-ans[1])*(x-ans[2]);
expand(eqtnl);
ans:=3,1
egtnl:= (x-3) (x—1)

X>—4x+3




Problem 2:
r> with(plots):
War ni ng, the name changecoords has been redefined

1.2.A
> f:=x->sin(2*x);
pl ot (f(x),x=0..4*Pi, col or=bl ack);

f:=x - sin(2x)
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> g:=x->abs(3*x+2);
pl ot (g(x),x=-4..1, col or=bl ack);

X

1.2.C
> h:=x->10+1.5*sin(Pi/12*(t-12));
pl ot (h(t),t=0..24, col or =bl ack) ;

h 10+15 III% (t )%
= — .
=X + S 2
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